
Part -List TR-600-S

Fecha / Date: 28/12/12 Revision: 1.7
We reserve the right to introduce any technical 
modification without previus notice

Pos Ref. Description N.P.M

1 17893 PAINTED W/AXLE CARRIER SET TR 1

6 17130 FLEETING AXLE TR-400/600 1

7 1948 SCORING WHEEL D6-D10 1

8 17131 FLEETING STOPPER TR-400/600 2

9 17842 PAINTED TOOLHELDER TR SET 1

10 15113 NYLON STOPPER 1

11 15128 TOOLHOLDER BRAKE SPRING 1

12 15129 BRAKE SCREW TOOLHOLDER TS 1

13 16835 HANDLE M-10 TM/TX SET 1

14 17210 CHROMED GUIDE DIA.17X713,5 2

15 17132 CARRIER 12MM TR-400/600 STOP 2

16 17208 SUPPORT TR 2

17 17248 SCREW DIN 912 M6X20 BLUING 4

18 15166 SCREW DIN 6921 M8X16 ZN 4

20 17218 PASTIC ROLLING 10X12X8 1

21 17217 PIVOTING AXLE TR 1

22 40020 NUT SELF-LOCKING DIN985 M6 ZINC 2

23 17225 PLASTIC COVER TR 3

24 12086 CLIP BASE 16

25 17891 BASE 4

26 12097 SPRING 11,3X14,7X35,2 8

27 17201 BASE TR-600 1

28 17549 GUM SHOE D.21X29 4

30 17223 SERRATED RETENTION WASHER A 10 2

31 05531 SCREW DIN 912 M5X12 ZINC 1

32 17221 SPRING WASHER DIN 137 TIPO B 1

33 17661 STOP 0º 1

34 45049 NUT DIN 934 M5 ZINC 1

35 17662 REGULATOR SCREW 0º TR 1

36 40045 SELF-LOCKING NUT DIN 985 M5 ZINC 1

37 17227 LATERAL STOP TR-S 1

38 17279 LATERAL STOP GUIDE TR-S/TX-N 1

39 17021 RED POME M6X10 2

40 17230 RIGHT TIPELINE TR-600-S 1

40 17233 INCH RIGHT TIPELINE TR-600-S 1

41 17229 CENTRAL TIPELINE TR-S 1

41 17232 CENTRAL INCH TIPELINE TR-S 1

42 45873 RED POME M8X23 SET V2 1

45 17228 LEFT TIPELINE TR-600-S 1

45 17231 INCH LEFT TIPELINE TR-600-S 1

46 17136 CARRIER STOP 5MM TR-400/600 2

47 17205 BREAKING FEET TR 1

Ref. 91174

TR-600-S
Ref.: 17936, 17940

GERMANS BOADA S.A.

Página 1 de 3



Part -List TR-600-S

Fecha / Date: 28/12/12 Revision: 1.7

We reserve the right to introduce any technical 
modification without previus notice

Pos Ref. Description N.P.M

48 17207 DRAW-ROD TR/TX 1

49 17100 CILINDRIC FASTENER D8X30 2

50 17894 PAINTED TR WO/AXLE CARRIER SET 1

52 50211 SCREW DIN 7981 M3 9X16 ST ZN 2

53 17206 WIPE POME TR 1

54 17204 WIPE TR 2

55 17858 MM SQUARE SET TR-600-S 1

55 17860 INCH SQUARE SET TR-600-S 1

56 17851 SEPARATOR TR SET 1

57 17890 BASE TR-600-S SET 1

58 61084 SUPPORT ARM SET TR-S 600 1

59 17882 SQUARE TR-600-S 1

60 17270 TR-600-S SUITCASE SET 1

61 15761 DOUBLE PLASTIC SHUTT 2

62 17245 TR-600-S EXTERNAL SUITCASE SET 1

Ref. 91174

TR-600-S
Ref.: 17936, 17940

GERMANS BOADA S.A.

Página 2 de 3



Exploding TR-600-S

Fecha / Date: 28/12/12 Revision: 1.7

We reserve the right to introduce any technical 
modification without previus notice

Ref. 91174

TR-600-S
Ref.: 17936, 17940

GERMANS BOADA S.A.

Página 3 de 3


